[image: image1.jpg]m. 4'xt’xs* é& 33

4"xtxs é 5—
n  25x125xt’ = e
10°¢* 5

2

Express the following in expanded form.

a. 7000932
b. 5976080
¢ 1089234
, 4

Express the numbers in standard form. 7‘25393 AXI0
4  72586.239 &

q. 23k SR e
b 92348 a6 1 % %0
o 498752000 b
4 1000000000000 b%! .
e 1580000 1:53x10

Algebraic Expressions

Find the like . ierms of the followil
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Identify the greater number.

a 2%ore?

b 29or20t A7
& ari 27

d Bord® 5*

Simplify and express 11 exponential for:
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INTERNATIONAL INDIAN SCHOOL, RIYADH
MATHEMATICS WORKSHEET
STD VII
Exponents and Powers
é}. L de —for eadl Z
Express the following in exponenhal form 5
. (D)x(D) (Y (Yx(z) ST,
b. (=x) x (-x) x (-)xyxy‘xyny E'x' "'é
¢ BxBxbOxtxtxixoxexe 5%’ Cflf‘é)
d axaxaxAxaxdxd o

Write the base and exponents in each of the following,

a (@ b=z E&=1

b. E{’/ bg g &e.- 3
b= =7 E=5

c o E = 6

Al ol

Simplify.

x o 16

b' 34 8 1

o 7 *hol

d 10° loovow

Express as product of their powers, g
729x9 q% o 3

a.
b 1080« 216 @&3)‘ x§
c 1200 1‘1x5‘2x 3
d 864 25x 3%
e -1000 3
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Find the quantity of which: fait R AT R ]

(a) 6% % is 2. (b) 80% is 704. (c) 7% is T 343.
Find the number whose 12—; % is 64.

Anjana scored 64 marks out of 80. What percentage of marks did she score?

If the height of a plant has increased from 8 cm to 10 cm, what is the percentage increase in
the height?

The monthly rent of a house has increased from I 2500 to T 3000. What is the percentage
increase in the rent?

The price of an electric motor was ¥ 5500. Its price has increased by 2%. What is the new
price of the motor?

A pool has 10 lanes. During a swim meet, 80% of the lanes are used. How many lanes arc
not used?

10% of the 440 people who came (o see a circus show had free passes to gét n How many
peeple had free passes? How many people had to pay to get n?

Find the percentage inerease or decrease:

(a) Prico of a shirt decreased from 7 80 ta 60,

(b) Marks in a test inorensed from 20 to 30,

Find the gain(profit)/loss percentage, when:

(8) C.P =7 1500 ; &P = T 1630 (b) € = ¥ 3550 ; 4. = € 3504

(o) C.P, =% 400 ; 8P =7 360 (dy €. = # 750 ; 8B = ¥ 600,

Find the selling price (S.F.) when:

(@) CF =T 0620 ; Guin = 13% () €. =T 740 | Loss = 7%

Find the cost price (C.F) when:

(5) SB =7 810 ; Logs = 10% (hy S = & 756 § Gain = &%

A cloth merchant buys eleth af T 28 per metie and selis it al T 35 per metre Find kg gait
percefitage.

A sofis vet was baught for € 1800 and sold at a losd of 25%, Whit waz the selling price?

A shopleepor buys an alinirali for € ¥50. The (rangport charges are ¥ 40 Ha ells it st o gaif
of 10%. What is the selling price?

Harinam borrowed T 14000 from a bank at [5% pa. for 3 years How much interest will he
pay to the bank after 3 years?

Ratmesh borrowed ¥ 2500 from his friend at 8% pa. Me retumed lhe monsy aftar | year

John deposits T 4000 in a bank, Tho bank pays lnterest At K poa. Find the interest and e
Rashi borrowed € 6000 from a bank. If the bank charges interest at the raie of 14% pa.

Gl

What principal will amount to T 2640 i 2 years ot 10% pa. interest

8

How much did he pay back altogether?
g

pmount that he will receive after two yenrs?
l6

what amount will he pay o the bank at the end of 3 yaurs?
]
1o | In how many vears will © 200 amount 41050 b 10% pad
)

What sum of money will pet annuel interest of § 1800 at 8% pat
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1.| Write each of the following fractions as a per cent:
4 3 1 3
@ = ® 15 (e @
3 ) 18 u B
1 (e) % ® 20 (8 50 () 20
2.} Write each of the following per cents ag a fraction in the simplest form:
(a) 6% (b) 84% (e) 15% (d) 44%
(&) 67% y 95% (p) 45% (hy 33%
3.| Convert each of the following ratios into a per cent:
@ 3:10 (b) 19 : 20 (6) 19+ 28 (d)2:5 (@112
4. Convert each of the following decimals info a per ceft:
(a) 0.37 (by 0.15 (e) 0.156 (d) 7.2 (g) 105
5.| Write each of the following per cents as a decimal
(a) 11.4% (b) 36.0% (€) 75% (d) 0.4%
(e) 0.2% (f) 184% (g) 90.5% (k) 313.02%
6.0 Find the value of n for cach of the following:
hioosy. T D S8 2oL 2 _ 1
Wig=" ©F7W Win®*xp @ g 7
"
© 2% =45 O %= % (@ 13% =28 @ 3= %
74 There are 50 students in a class. Fighteen of them are girls and the rest are bays. What
per cent of the students are girls? What per cent of the dfudents are hays?
#| Mala has a collection of 50 bungles. She has 20 gold bangles and 30 silver hangles. Find the
percentage of gold and ailver bangles?
e e Ent? e —
’ E EX;RCISE 8.2
t| Find:
(a) 10% of 60 (b) 20% of 315 (e) 10% of 42.5
(d) 20% of ¥ 500 (e) 15% of 50 / (f) 6% of 400 kg
b2 What per cent or. g B e =
(a) 10 g 27 (b) 40 1 K (&) 200 1 37
(d) ¥ 80 is T 3.507 (6) U lan jg 6 kmt (t) 300 ig 29





